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ECONOMICS
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

Who is widely known as the founder
of Austrian School ?

(A) W.S. Jevons

(B) Leon Walras

(C) Knut Wicksell

(D) Karl Menger

For substitutes, cross elasticity of
demand is

(A) Positive
(B) Negative
(C) Zero

(D) Always less than one

Reservation wage means

(A) Fair wage at which workers are
willing to work.

(B) Subsistence wage at which an
individual is willing to work.

(C) Minimum wage at which an
individual is willing to work.

(D) Maximum wage at which an
individual is willing to work.

An economic region of production

consists of

(A) The positively sloped portions
of all isoquants

(B) The negatively sloped portions
of all isoquants

(C) The middle of all isoquants

(D) The highest points of all
isoquants

Elasticity of substitution is

(A) The substitution of cheaper
inputs for dearer inputs.

(B) The rate at which the inputs
(labour and capital) are
substituted.

C) A measure of the
responsiveness of input ratio to
a change in input-price ratio.

(D) A measure of the
responsiveness of input prices
and the substitution of the
cheaper inputs.
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In game theory model, strategies include

I.  The potential choices to change
the price

I. To develop new or
differentiated products

I1l.  To introduce a new or different
advertisement campaign

IV. To build excess capacity

Codes :

(A) Il and Il are correct.

(B) Iand Il are correct.

(C) I, Il and Il are correct.

(D) All are correct.

Pareto optimum implies

(A) A resource allocation for which a
Pareto improvement is possible.

(B) A resource allocation in which
social improvement is possible.

(C) A resource allocation for which
atleast one is better off and no
body is worse off.

(D) A resource allocation for which
there are no Pareto improvements.

A model of oligopoly in which one
business sets output before the other
business do is

(A) Cournot oligopoly model

(B) Bertrand oligopoly model

(C) Stackelberg oligopoly model
(D) Chamberlin oligopoly model

Assertion (A) : Sunk costs are not
relevant to economic decisions.

Reason (R) : The opportunity cost of
such resources is zero.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) (A) is correct, but (R) is not
correct.

(C) Both (A) and (R) are correct,
but (R) is incorrect explanation
of (A).

(D) (R) is correct, but (A) is
incorrect.
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10.

11.

Match the statement given in List — |

with that given in List — Il and

choose the correct code :

List— 1

I. Employmentand .
output are
determined solely
by the factors
operating on the
supply side of the
labour market,
according to

List - 11
Karl Marx

Il. The term ii. Classical
‘classical’ was economists
coined by

I11. The classical iii.J.M. Keynes
production

function was used
to derive the
aggregate supply
function by
IV.A linear aggregate iv.Keynesian
consumption economists
function was used
by

Select correct code for the correct

answer from the following :

Codes :

I imn1m1wv
(A) i iii i iv
(B) iv i i iii
C) i i v ii
(D) i i i v

The permanent income hypothesis is
consistent with cross-section and time-

series data because

(A) Higher-income households are
savers since their current
income  includes  positive
transitory components.

(B) Higher-income households are
savers since their current
income includes  negative
transitory components.

(C) Lower-income households are
savers since their current
income includes  negative
transitory components.

(D) Lower-income households are
savers since their current
income includes  positive
transitory components.
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12.

13.

14.

Which of the following statements is true ?

(A) Net investment is more stable
than gross investment when
replacement  investment s
constant over time.

(B) Gross investment is more
stable than net investment
when replacement investment
Is constant over time.

(C) Replacement investment equals
capital-output ratio times the
expected increase in output
(V—Ay).

(D) Net investment is greater than
V-4, when the capital-output

ratio (v) decreases.

Match the demand for money
approach given in List — | with their
propounders given in List — Il and
choose the correct code :
List— 1 List— 11
I. Inventory i. Milton
Theoretic Friedman
Approach
I1. Cash Balance ii. James Cohin
Approach
I11. Portfolio ii.W.J. Baumol
Optimization
Approach
IV.Quantity Theory iv.Cambridge
of Money Economists
Codes :
I i1 wv
(A iv i i i
(B) iv R [T I |
(C) i v i [
(D) i v i i

Assertion (A) : According to Keynes,
individuals hold either cash or
all bonds.

Reasoning (R) : Because, according to
him, the speculative demand
for money is associated with
uncertainty.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)iscorrect, but (R) is incorrect.

(D) Both (A) and (R) are incorrect.
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15.

16.

17.

Which one of the following is not a
correct interpretation of the Golden
Rule of Accumulation ?

It is that capital per person at which
(A) Savings per person and

investment per person are
maximum.
(B) Marginal  productivity  of

capital is equal to the rate of
growth of population.
(C) Marginal  productivity  of
capital is equal to saving ratio.
(D) Elasticity of output with
respect to capital is equal to
saving ratio.

For particular high values of
marginal propensity to consume and
the accelerator coefficient, explosive
non-oscillatory cycles will occur in
the model of the business cycles
propounded by

(A) Paul A. Samuelson

(B) J.R.Hicks

(C) Nicholas Kaldor

(D) All of the above

In the context of IS-LM framework,
which of the following statements is
false ?

(A) IS curve is steeper, the lower
the value of the Keynesian
multiplier and the lower the
interest sensitiveness of
investment demand.

(B) Crowding out is effective when
money demand is perfectly

interest inelastic and
investment is perfectly interest
elastic.

(C) The fiscal policy is least
effective and the monetary
policy is most effective, the
higher the interest sensitiveness
of money demand and the
lower the interest sensitiveness
of investment demand.

(D) The Pigou effect restores the
effectiveness of  monetary
policy even under the liquidity
trap.
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18.

19.

20.

21.

22.

Assertion (A) : The fiscal policy is
less effective in an open
economy than in a closed
economy.

Reasoning (R) : Because the value
of the multiplier in an open
economy is less than that in a
closed economy.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)iscorrect, but (R) is incorrect.

(D) Both (A) and (R) are incorrect.

Embodied technical change model is
based on which production function ?
(A) CES

(B) Cobb-Douglas

(C) Translog

(D) VES

“A technical change is neutral if at a
constant rate of profit or interest, the
capital output ratio also remains
constant.”  This  concept was
propounded by

(A) Kaldor (B) Hicks

(C) Solow (D) Harrod

Endogenous growth models have
been developed by

l. Kenneth J. Arrow

Il.  Paul M. Romer

I1l.  Robert E. Lucas

IV. R.M. Solow

Codes :

(A) landll (B) MHNland IV
(C) Ltandlll (D) I, MlandIV

Kaldor’s growth model is based on

the following assumptions :

l. Output consists of wages and
profits only.

Il.  Investment output ratio is an
independent variable.

I1. MPg and MP_. are constant.

IV. There is less than full

employment.
Codes :
(A) land IV (B) MHandlll
(©) Hland IV (D) Tlandll
J-01-13
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23.

24.

25.

Assertion (A) : Innovations in one
field rarely induce innovations
in related fields.

Reason (R) : Once an innovation
becomes  profitable, other
entrepreneurs  follow it in
“Swarm like clusters”.

Codes :

(A) (A) is not correct and (R) is
correct.

(B) (A) is correct and (R) is not
correct.

(C) Both (A) and B are not correct.
(D) Both (A) and (R) are correct.

Arrange the concepts of Endogenous
growth model in a sequential order :
I.  Production of ideas by research.
Il. Learning by doing.

I1l. Learning by investment.

IV. Learning by watching.

Codes :

(A) 1LV

(B) IV, I, 1,1l

©) LI, al

(D) I, 1V, 1

Match the items in List — | with
List—11:
List—1

I. Increasing
outlay on
education
leads to rapid
Economic
Growth

Il. Spread Effects ii. Kaldor

I11. Theory of 1. T.W. Schultz &
Demographic others
Transition :
Five Stages of
Population
Growth

IV.Widows Curse iv.Gunnar Myrdal

Codes :

List—11
i. C.P.Blacker

T,
A i i v i
B) i i i v
C) v Qi i
(D) Qi v i i
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26.

217.

Match the items in List — | with
List—11:
List—1 List—11

I. Capitalistrules i. Karl Marx
of the game

I1. Embodied ii. UNDP
Technical
Change

I11. Industrial iii. Robert
Reserve Army Solow

IV. Human iv. Joan
Development Robinson
Report

Codes :

I mnu v

(A) i ivodi [

(B) i ioivo il

(C) i i v

(D) v i i i

Assertion (A) : Dependence of Less

Developed Countries (LDCs)
on Developed Countries (DCs)
is the main cause for the
underdevelopment  of  the
former.

Reason (R) : “This is because of
historical evolution of a highly
unequal international capitalist
system of rich-poor country
relationships.”

Codes :

(A) (A) is correct and (R) is the
correct reason for (A).

(B) (A) is incorrect, but (R) is
correct.

(C) Both (A) and (R) are incorrect.
(D) Both (A) and (R) are correct.
J-01-13
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afirper (A) : &9 fawtaa e @
fopfaa 39 W Rdr 37 31ed

forehT T &7 HRT & |

(R) : “Z¢ wi-7Hia I3 &
pat=ro I o N o 11 o
AL ISRl e &
Uqelias SEHE & HROT gl
g

HIROT

(A) (A) T ¢ 3T (R), (A) 1 Tl

FROTE |
(B) (A) Terd € W= (R) W&l & |
(C) (A) 3R (R) =1 TToid &
(D) (A) 3R (R) I T& € |
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28.

29.

30.

Which of the following is relevant
for Wagner’s Law of Increasing State
Activities ?

(A) Public expenditure does not
increase in a smooth and
continuous manner.

(B) Public expenditure increases in
step like fashion.

(C) There are inherent tendencies
for the activities of the
Government to increase both
intensively and extensively.

(D) Economy grows faster than the
governmental sector.

The share of the tax borne by the
seller will be larger

(A) if the demand for the product is
less elastic.

(B) if the demand for the product is
inelastic.

(C) if the demand for the product
has greater elasticity .

(D) if the elasticity of supply of the
product is larger.

The non-plan revenue expenditure of
Central Government on Revenue
Account include :

l. Interest payments

Il.  Subsidies

I1l.  Grants-in-aid

IV. Loans to Public Enterprises
Codes :

(A) land Il are correct.

(B) I, Il and Il are correct.
(C) I, 1l and IV are correct.
(D) I, 1, 11l and IV are correct.

Paper-I111
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31.

32.

33.

The Constitution of India provides
for transfer of resources from Centre
to States in the form of

l. Tax sharing
II. Loans
I1l. Grants-in-aid

IV. Grants for implementation of
Five Year Plans

Codes :

(A) I, 1l and Il are correct.
(B) land Il are correct.
(C) I, 1l and IV are correct.
(D) All are correct.

Identify the correct chronology of
implementation of the following
taxes in India :

l. Service taxes

Il.  Fringe benefits tax
I11.  Personal income-tax
IV. Expenditure tax

Codes :
A HL LIV B) HLILLIV
C©) uLiv, L (D) IV HLIL

The taxes which Kaldor proposed for
India in 1956 to check tax evasion,
supplementing income tax are

l. Capital gains tax
I1.  Annual tax on wealth
I11.  Personal expenditure tax

IV. Gift tax

Codes :

(A) 1land Il are correct.
(B) I, Il and Il are correct.
(C) 11, Il and IV are correct.

(D) All are correct.
J-01-13



28. R &% dgHE ISTh fhaned & Fa

29.

30.

& ford freforiad 5 & o1 uriTes & 2

(A) eSS =g ey wd gad @
AT Tea & |

(B) WESIH® = WigHAT dieh 9
FEAT ¢ |

(C) WX F wfRE = st

T B € fF o e ¥ & qen
foraia T @ st € 1

TWHR &F B UL AR
ST Ot | el & |

(D)

Tarshdl X T SATRT AR 8
(A) 3T T HT AT HH AT E
(B) 3 a& &l HiTT SRR & |
(C) 3fg &g = | ! AT MUH § |

(D) AT % =t YT S A e
T

HST TN & o7 @ AT
T[T & | e &

. =S PTEe
. 3usH

. EE 38
V. QeI 32T i R

| 3% 1 W&t & |

(B) I, 113 INTEE
(C) I, N3TIVEE
AL 1SRV T E

11

31.

32.

33.

TRT ol GO 55 9 T T TETAT
T TEAROT 6T BT U A ol Fae
FAT S ?

. Y Sea
1. =07
1. TEE-3eH

V. UTeNE giemr fRated w9 &
fordl aFgeT

I, 1SR T |
(B) 13T E
(C) I, 1N3ARIVEEE
T T |

ORA ° Fefeied w0 & harea &
TET HIATHA LS

. Harw

Il STIE oy T
. =AfRTTT 3T
V. &a=sT

HT

(A) ILLIL IV (B)
(C) NLIV,I,I1 (D)

1, 1L 1V
AV I

FY TOT B AhA b [0 a9 1956 H
IRA & o1 FHeek o AT & T &
®Y H T T T TR T ?

I ST o &Y

I, TR W e 6
. ST T
V. 3T *T

1 3T 11 =& € |
(B) I, 113RINTEE
(C) I, HI3RIVEE |
ol T |
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34.

35.

36.

37.

According to the cost based
definition of dumping, dumping
occurs when a firm sells a product
abroad at a price that is less than

(A) Average Total Cost

(B) Average Variable Cost

(C) Marginal Cost

(D) Average Fixed Cost

Select the correct statement out of the

following :

(A) Multilateral Trade Negotiations
are a process of increasing
tariffs to trade among member
countries.

(B) Multilateral Trade Negotiations
are a process of increasing non-
tariff barriers to trade.

(C) Multilateral Trade Negotiations
are a process of increasing
tariffs but decreasing non-tariff
barriers to trade.

(D) Multilateral Trade Negotiations
are a process of reducing tariff
and non-tariff barriers to trade
among member countries of
GATT or WTO.

Consider the following statements :

As per the Trade Related Investment

Measures (TRIMs)

1. all restrictions on foreign
capital companies are to be
scrapped.

2. no restrictions will be imposed
on any area of investment.

3. imports of raw materials are to
be allowed freely.

4.  export of part of the output will
be mandatory.

Which of the above statements are

correct ?

Codes :
(A) 1,3and4 (B) 1,2and3
(C) 1,2and4 (D) 2,3and4

The fundamental cause for the
collapse of the Brettonwoods System
was

(A) the liquidity problem

(B) the adjustment problem

(C) the confidence problem

(D) all of the above

Paper-I111
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38.

39.

Match List — I with List — Il and
select the correct answer using the
codes given below the lists :

List—1 List— 11

I. Forward i. A device of
exchange covering
exchange risk
against the price
rise of foreign
currency.

ii. A contract to buy
and sell foreign
exchange against
another currency
at some fixed rate
in the future at a
price agreed upon
now.

iii. The movement of
exchange rate
between two
limits set by the
cost of moving
gold from one
country to
another.

iv.A mechanism
which merges
two separate
physical markets
into a single
market in
economic sense.

1. Hedging

I11. Arbitrage

IV.Specie
points

Codes :

I imnm 1w
(A) v i i i
(B) i i iv i
(C) iv i i iii
(D) i i v i

Arrange  the
ministerials in

following WTO
the chronological

order :

I.  Seattle

Il.  Cancun

I1l.  Singapore

IVV. Hong-Kong

Codes :

(A HL v, L B HLLI v

©) 1uLiv, 1 (D) 1LV,
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34.

35.

36.

37.

ST (1) o ANT ST G
% AR, ST 39 qHT T ST & ST
FH IAE F fo5w ¥ FAfared ¥ &9
aﬂnﬁwéa?ﬁ%'

(A) 3Ed FA AT

(B) e uRad ANt

TAfcRET o ¥ T e o 9aT

(A) TEUET MR GO 95ed 90
% S AR WReR H glg H
T UhAT E |

(B) EWET =AMUR TEE IR &
IRIesh  STRIEl &l dgH @l
AT € |

(C) el AR Tl We[ehi i
IgH W] AR H TRUYH
TERTET hl T T ARAT T |

(D) T MR gE| e
GTdd) Tgar T=galsl. &
T 39 % dE AR WReH
3R TR-IS[oeh STael i HT HA
U E |

FAfefad w2t T foar

FOR  gErEd Few 3

(LATIAETH,) & AT

1. fooei ot wWHE W gEE

Tidel &l g S & |
2. fEw & foEl ot &9 W e

3. e O Sl A HA B gt

4. ;?TT[H F Aifee FaE e
|

SYIFT | T B T HT el & ?

e -

(A) 1,334 (B) 1,233
(C) 1,234 (D) 2,334

FeIISH G F AR BH H Jord
HIT o

(A) TR St TEET
(B) THWEISH St GHEET
(C) favama = woEn
(D) SwEw @
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38. A - | g — 1l % AT GAferd B

39.

3R A U F2 ¥ T I H T9H

T

= - | =t - 1

I emm . fadst §gr W wiud
o gfs & foes o
St & T A B
R

ii. fo=el 431wt ondt ag
! T SHIAd T AT
o fdl fer T W 3=
3T & a5t Wi ud
S B HioTE

1.0 9 T 39 @l
S ! AT g
Treifea gt dmstt &
o fat9g T A
o

iv. o fspanfafer St wfifqe
w9 ¥ 39U TR
I 3MIH 9 & Thed
TR ST € |

1. gfsm

TREEIEE]

IV.41q &g

FT
T TRLY;
(A v Qi i
®) i i v i
©) v i i i
() i Qi v i

Tg 21,30, & TS GYE B BT
W o AT Y

. diest

. e

. Rme

V. @FTeRmT

LT

(A ULV, LI (B) LI IV
(C© ILHLIV,T (D) LIV, 11
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40.

41.

42.

If Hong-Kong and Taiwan have
identical  production  possibility
curves that are subject to increasing
opportunity costs, then

(A) trade would depend on
differences in demand
conditions.

(B) trade would depend on
economies of large scale
production.

(C) trade would depend on the use
of different currencies.

(D) there would be no basis for
gainful trade.

Trade deflection is the diversion of
exports to a country within a free
trade area that has

(A) higher tariffs on goods
(B) highest tariffs on exports
(C) lower tariffs on goods
(D) none of the above

The formula that shows the correct

relationship between :

i Total demand and
liabilities (L)

ii.  Excess Reserves (ER)

iili.  Current-account balances with
other banks (CB)

iv. Investment in unencumbered

government and other approved
securities (1*)

time

v.  Statutory  Liquidity  Ratio
(SLR) is
Codes :
+ |* -
(A) SLR= ER IL CB
ER +I*
(B) SLR=T7TCg
L+CB+ER
(C) SLR= CI—*
*
(D) SLR= ER + IL + CB

Paper-I111
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43.

44,

45.

Consider the following :

l. RBI 1. SBI

I1l. NABARD IV. LIC

The financial intermediaries among
the above are :

Codes :
(A) Allthe four (B) I, 11,1V
(©) 1,1 (D) 1, 1v

Real balance effect relates to

(A) the effect which a change in
value of the real cash balances
held by the public produces in
the economy.

(B) the effect which a change in
value of the real cash balances
held by the commercial banks
produces in the economy.

(C) the effect which a change in
value of the real cash balances
held by the multi-national
banks  produces in  the
economy.

(D) the effect which a change in
value of the real cash balances
held by the NBFIs produces in
the economy.

Assertion (A) : Reserve Bank of
India raises money supply
through purchase of securities
in the money market.

Reason (R) : Increase in money

supply may result in the
expansion of investment and
employment.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) Both (A) and (R) are incorrect.

(D) (A) is correct, but (R) is
incorrect.
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40. 3 TR AR dAEEE Hl IART

41.

42.

I a5k UHAHM €, ST agat 3Taas

AT o 3THR Sgerd &, at

(A) =R 9T H et 8 R W
T BT |

(B) =MNUR &¢ YA % IARA H
frqaatadrstl o T ST |

(C) =R M= Hal & T W
T BT |

(D) 3% HAUR & [T g MR =
g |

R foey =1 Ao Far s 39 99
H g JIAT & ST WA AUR & §
T & ST Feferfaa €

(A) & W 3= Wesh

(B) Tl W 3= We[e

(C) =& WA WR[eh

(D) S H | T &l

FAfeRad o aTe el Ty TR0 Aol

T HME ?

i. %ol AT U §HE <@ (L)

ii. oAl i (ER)

iii. 3 d% % UG @] Wi 99
(CB)

v,  STHIORT RT3 Wi
wfefear & e (1%)

v.  Hifaryeh alerdn 3A (SLR)

ER+I1*-CB
L

ER +I*

L+CB

L +CB +ER
(C) SLR= e

(A) SLR=

(B) SLR=

ER+I1*+CB

(D) SLR= C
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43.

44,

45.

o o

FfeRad o) faam &
ot A A |
1. =S \Y
ST ¥ fordia mer ¥
FT

(A) ST IS (B)
©) 1,1 (D)

TH 3T,
T, 378 4,

I, 1 v
I, 1v

T I TS {ohad Fraiee € 2

(A) SHAT % U SFHA THS IO H
0ed B giedd @ orlemaen o
ST TS

(B) aNfuifeeh bl & UMY 3T TS
6T o od § UNE & Foaey
I H 3T T

(C) =EIELT Sl & T A g
IS H oI A uRaeH H
IfHEE § 3 T9E

(D) THEILUF.SAE. & UG T THS
I % Tod | IRETT 6 HoRaey
AR H I~ YT

AfweT (A) . 9IRAE &9 S guT
IR | Afafaar &t Tlig & SIRA
T <l 3Mgfd o gfg e € |

HROT (R) : &1 MY § ghg T aiRom
fFerer den IR | foar @l
THAT T |

(A) (A) ¥R (R) sHi Wl & &1 (R),
(A) T T& AR E |

(B) (A) 3R (R) I @l & = (R),
(A) =t TE == T E |

(C) (A) 3R (R) T Tord € |
(D) (A) T e, =< (R) T € |
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46.

47.

48.

Match the items in List — | against
the items in List — Il and select the
answer from the codes given below :

List— 1 List—11

I. Simple i. 100% backing of
Deposit metallic reserves
System

Il. Maximum ii. Certain
Fiduciary percentage of
System total notes is kept

in specific
reserves.

I11.Percentage iii.Maximum note
Deposit issuing is
System statutorily fixed.

IVV.Bonus iv.Reserves of I0Us
Deposit and short period
System loans.

Codes :

I inu 1w

(A) v [

(B) i i v

(C) ii iav il

(D) i i i v

As per Micro, Small and Medium
Enterprises Development Act, 2006,
micro enterprises are those with
investments :

(A) <% 25lakhs

(B) ¥ 25lakhsto ¥ 5 crores

(C) T 5croresto? 10 crores

(D) >7%10crores

Match the items given in List — | with
those in List—11 :

List -1 List—11
I. Rangrajan i. Reportonsmall
Committee Industries
Il. Karve ii. Disinvestment
Committee of shares in
PSE’s
I1l. Dr. R.K. iii.Review of the
Hazari Policy for
Committee Public
Enterprises
IV. Arjun iv. Industrial
Sengupta Licensing
Committee
Codes :
I mn m v
(A) i i v i
(B) iii v i
(C) i i iv il
(D) i iv i iii
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49.

50.

ol.

52.

53.

The Eleventh Five Year Plan aimed
at generating

(A) 15 million work opportunities
(B) 35 million work opportunities
(C) 58 million work opportunities
(D) 100 million work opportunities

The Unorganised Workers Social
Security Act came in existence in the
year

(A) 2001
(C) 2008

(B) 2005
(D) 2012

The share of industry in India’s GDP
in the year 2006-07 is estimated at
(A) 20% (B) 15%

C) 45% (D) 26%

According to Hotelling rule about the
exhaustible natural resources, which
of the following is used for price
variation of the exhaustible natural
resources :

(A) Rate of interest

(B) Labour cost

(C) Rentand royalties of mines

(D) Production cost and royalty of
mines

Suggest the correct answer about the

‘Pigovian Tax’ :

l. Provides solution in order to
‘internalize’ the total costs of
an activity into the market.

Il.  Provides solution to reduce the
production of  pollutants
through public policy.

I1l. It helps in increasing the factor
productivity in the real sector.

IV. Itacts like a severance tax.

Codes :

(A 1&1 B) &IV
C) LIU&IV (D) LILIN&IV
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46. T — | % "R 1 AT — |1 % AT W
goferd Y AR 99 T $ § 3T H
T

=i - | =t -
| SeRoTSET . g Ree @
JOTTAr 100% e
Il. s i, et At B TS
I AT PicMERCHERTSC
fower@ yomett AT S Y |
1. 7fqera ST i, 3Teha™ e STRY
JOTTA AT Fitargd €9
o Fea e g |
V.S s iv. 3731 . o Rerd
JOTTAT 3 THIAR
gl
FH
T
gAi TR VAR [
B I i iv
C i i iv il
(D) i i Qi v

47. gem, o AR TEw Y faww
ayf=m, 2006 & TR, TeH 39 a8
& TSTent frrarer Tfer &1t &

(A) <% 25°md
(B) T25¢m@d I 5 &g
(C) I5wSTVI IO IS
(D) >Z 10T
48. gt — | W TR B g — || H TR H
e g
= - | =t - 1
| TIRSH 9Efd i, &g 3T ) Rae
II. =a HE i, U@ T afel
EARCIECH
1.5, 3T, iii.Ere 3T =it
TR A TARTATR
IV. 3 AT v, 3t
FH AR
Fe !
I (| I 1 ] . AV
(A i i v
(B) iii v i
€ i i v i
(D) i iv i iii
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49.

50.

51.

92.

53.

TREE] THauE JISTT T A8 feoha i
TR G LT AT ?

(A) 15 Tafera & /e

(B) 35 Mafera & se@w

(C) 58 MferaT w3

(D) 100 faferas HE 2@

TS IR AT Gl STt
T o o & 2

(A) 2001 (B) 2005

(C) 2008 (D) 2012

¥ 2006-07 T 9RA 3 SIS, H AN
% fesd o7 3T ormaT T o 9

(A) 20% (B) 15%

(C) 45% (D) 26 %

fr9FE wipfaes dEeEr % SR o
gefem M % oER, M
TTeh{deh GHTEAT & SiAd TRea & ford
Tr=Afertaa & 9 fohaent ST fokar T 2
(A) =T I T

(B) = T

(C) @M Fl [T e W& Ik
(D) STRA @I SR @EFT ® @

e

“UN] T % IR T TEl IR Jared

I, foFam @l 1 ANl H ISR o
FHT HH & [od TEE
TS AT & |

I, SesHe Aifd & SIRE U5t &
SR H HH B B A TS
FATE |

1. ardfee &3 § SR i SAEeh]
T T T el T € |

V. I Fshuor &Y o a8 1 Bl
g1

FT
(A) 13RI (B) 13RIV
(C) LISRIV (D) I I IN3RIV
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54,

55.

56.

57.

Which of the following is correct
about the Contingent Valuation
Method (CVM) used in
Environmental Economics ?
(A) Itis used only for pollutants.
(B) It is used only for items with
positive utilities.
(C) It is used for
market failures.
(D) It is used only for natural
resources.

items under

Natural growth of population is the
outcome of the following :

l. Crude Birth Rate

Il.  Crude Death Rate

1. Migration

IV. Marriages

Codes :

(A) Onlyl (B) Only IlI
(C) N&IV (D) 1&Il

Identify the correct statement about
the relationship between total fertility
rate and gross-reproduction rate :

(A) TFR > GRR is possible.

(B) TFR =GRR is possible.

(C) TFR < GRRis possible.

(D) All the above is possible.

Why does the share of agriculture in

developing economies decline when

national economy is growing rapidly ?

l. Food becomes like inferior
commodity.

Il. Growth of agriculture cannot
be very fast.

I1l.  Industrial sector grows faster.

IV. Public spending on the farm
factor is not enough.

Codes :

A LILI&IV
B) I, &IV
(C) N&II

D) LN&IV
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58.

59.

60.

61.

Share of fishing in the GDP of India
in recent years has been around

(A) 0.8percent (B) 1.2 percent
(C) 1.7 percent (D) 2.1 percent

What is the economic  cost of
foodgrains to the Food Corporation
of India ?

(A) Minimum support price and

bonus paid to farmers +
transportation costs.

(B) Minimum support price +
bonus + interest cost.

(C) Minimum support price +
bonus + procurement
incidentals + charges for
godowns.

(D) Minimum support price

(including bonus, if any) +
procurement incidentals +
distribution cost.

What is meant by farm mechanization ?

(A) Using only machines for farm
operations.

(B) Replacement of biological
sources of energy by the
mechanical sources of energy
for farm operations.

(C) Using machines, tractors, tube
wells, etc. for agricultural
production.

(D) Using machines, tractors, tube
wells, fertilizers, etc. besides
soil testing and certified seeds
for agricultural production.

Inter-sectoral terms of trade in an

economy refers to

(A) ratio of prices received and
paid by the farmers.

(B) ratio of domestic and
international price of farm
commodities.

(C) terms at which government
purchases farm produce.

(D) trade of industrial products in
the foreign markets.
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o4,

55.

56.

S7.

TITEROT TR H SUANT foRd S aTett

TG Jeaieh HoTett (CVM) & ar o

frfoafaa & @ w1 W@ 8 ?

(A) T& HIA USTR & ferd SN
fopar ST 7

(B) I TO% eMTcHs SUAITATST Ford
&1 & ford o fopar ST € 1

(C) % IR fawerdret & 3farid el
% o1 SuFnT T ST € |

(D) =& Ta% uiplas dae & ford

STANT fhaT ST & |

SHEEAT S WHAE gy fhae arRom
T

I TIed SR
1. 3ToMted e
. v

Iv. foame

T

(A) Tk

(C) Il 3RIV (D)

(B) & I
| 3R 11

FA TS X AR Fehel JAGARA 8T &
i T o R H el U Fared
(A) TFR>GRRE¥®ET |

(B) TFR=GRRE¥=EY |

(C) TFR<GRRE®™MEY |

(D) SUgT Tt Ty € |

S AT e oSt | foeiad e

T Bt € Al foreprasier srdegeEet o

@f&m%@@mﬁﬁ%”
T e o 99 s ST € |

|| F 1 fohd Sgd o @l @l
THaT |

11, st & oSt & o &
g

V. F &3 W qesi-e = w@e
T A E |

T

(A) 111, ISRV

(B) I, 13RIV

(C) N aRII

(D) I, 13RIV
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58.

59.

60.

61.

aa | SELd. o Hee Ui o fee

ETCT &1 o o8] § T fehe T T 2
(A) 0.8ulded  (B) 1.2 Wiaerd
(C) 1.7uiaea (D) 2.1 Wiaerd

IRA & @ T & fod @mr &

3T AT T & 2

(A) =TT FEAF HiAd R HAET R
fea a1 S + IREe e

(B) —aH HUUH dEA + qHE +
ST Sl AN

(C) =7aw ¥Hdd Hmd + T +
TII0T  SAhHAT +  TSEl bl
TR

(D) A" gHdq @Ud (@HE gHA
aﬁ@%wwamﬁmaﬁrq
foaRoT AT

I FiCHRIHIOT T T AT T ?

(A) Tt & wEt & ford fad T
ST T |

(B) Tt % HE % ford o1 o AH
Hal gRT Sl o SAferh Eedl
T |

(C) PN SR & o HefiA, e,
ZFIAAT TS BT STATT HAT |

(D) HT ScueA & fotd a1 WRIeTor S
Ao 63 T8 S 6 ST &

SEThI T ST |

EEET B AR AWK A 6

Ty fohed € ?

(A) THTFT R T8 3T U i
<hl AUIT

(B) HiT SRS I W T HRGHE
FHITT T ST

(C) o ¥t 19 W THR HY I
TIEA E |

(D) focel a=Rt § 3frenfier Seat
IR
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62.

63.

64.

65.

The utility function is given as
U = f(x, y), where U = total utility
and x & y are two goods consumed.
The budget constraint is given as
C=p, x+ Py Y, where p, and py are
the prices of ‘x” and ‘y’ respectively.
The condition for maximisation of
utility is

(B) 2—)‘:/%: IDX/on
© 555

The total cost function and the market
demand function of a competitive firm

1
are C = §x3 — 10%2 + 9x + 1000 and

X = (12 — p)/9 respectively. The level
of output at which profits will be
maximised ?
(A) 1
€ 3

(B) 2
(D) 4

An input-output model which has
endogenous final demand vector is
known as

(A) Open Input-Output Model
(B) Closed Input-Output Model
(C) Static Input-Output Model
(D) Dynamic Input-Output Model

Let the two regression lines be given
as: 3x =10 + by and 4y = 5 + 15x.
Then the correlation coefficient
between x and y is
(A) -0.40

(C) 0.89

(B) 0.40
(D) +1.05
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66.

67.

68.

The estimated regression equation of
the formy = oy + o X; + o, + € is
y =-6.79 + 1.79(x,) + 0.97 x, and
SE (o) = 1.32, SE (o) = 0.41 and
SE (a,) = 0.53. To test H; : a; # 0,
the test statistic | t | is equal to

(A) 5.144 (B) 4.366
(C) 1.830 (D) 3.377
Given that the Cobb-Douglas

production function is :
y=AL*KP o, >0

Match List — | with List — Il and
select the answer from the codes
given below :

List—1 List—11
I. Increasing returns i. a+p=1
to scale
Il. Decreasing returns ii. o +p>1
to scale
I1l.Constant returns  iii.a+p<1
to scale
IV.Diminishing iv.a, <1
returns to factors
Codes :
I nu 1w
A) i o v
B) i mooivodi
© i \Y%
(D) v i i [

In the presence of heteroscadasticity,
the best linear unbiased estimators
are provided by the method of

(A) Ordinary Least Squares
(B) Indirect Least Squares
(C) Weighted Least Squares
(D) Instrumental Variables
J-01-13



62.

63.

64.

65.

I SR e U = f(x, y) & 3%
FoT ST U & 3R x 3k y &
IT Y & | AR aee Ry
C=p X +p, Y & &l p, &N p, HA:
‘X’ 3T ‘y’ S HEd &, Al ST
atfereherieRTor i ferfe < it 2

of of _Py

8x/ay_ /IOx

of of P
(B) 8x/ay_ /IOy

(A)

(©) 5=5=r"

O =%,

g AfqarT ®F & PHoT AN Feld 3R

. 1
IR {0 ®edd shasT: C =§x3 — 10x2

+ 9x + 1000 3T x = (12 — p)/9 ¥ |
FAEY B W A W IR H &
AR BT ?
(A) 1
(C) 3

(B) 2
(D) 4

519 - (3Ye-3T3eye) Hiewd
FHEATT T 2

(A) el AMTE-Fa Aiew

(B) d% 3mTd-fid Higet

(C) wfd® mma-fa Afew

(D) TIATCHSE STTA-FTd Hige

A A 3 GEEEUT Y@ SRS
3x =10 + 5y 34y =5+ 15x & |t
Tt x 31T y & e THISE0T Ot g

(A) -0.40 (B) 0.40

(C) 089 (D) +1.05
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66. WA fHY = o + oyX; + X, + €

67.

68.

EET H GHEHOT Y = — 6.79 + 1.79(x,)
+ 0.97 x, ¥ 3 SE (o) = 1.32 %,
SE (o) = 0.41 & 3R SE (0,) =053 2 |
Hy @ o, # 0 % &0 &1 & o,
TRIETOT WiteTehl | t | Tohareh SR & 2
(A) 5.144 (B) 4.366

(C) 1.830 (D) 3.377

A9 @ o &9 T8 SURT hed
fAfefad & :

y=AL*KP, a, >0

a8 9 gt — | % wei B g — |l
% TR % G GAfed Y SR A 5

FT T el SR B 9T B
= - | =i - 1
l. 9= & FEaH i a+p=1
AfThet
1. 99 o Frag= i.a+p>1
AfThet
.99 & feR ofawd jila+ B <1
|V R & A iv.a, p<1
AfThet
e -
I inm v
(A) i i v
B) i v i
() I T T T iv
(D) iv i il i
Temfear &t Sureid §, Faray @
3T a1 98T STheteh TR fatg g1
Y 1 & ?
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69.

70.

71.

To test the stationarity of the series in
time series analysis, the following
test will be used :

(A) Unit Root Test
(B) Random Walk Test

(C) Cochrane-Orcultt Iterative
Procedure Test

(D) Durbin-Watson Statistic Test

Match List — I with List — 1l and
select the answer from the codes

given below :
List—1 List—11

I. Koyck’s i. Adjustment
Lagged Equation
Model

Il. Almon’s ii. Geometric
Lagged Progression
Model

I11. Nerlov’s iii. Adaptative
Model Expectation

IV. Cogan’s  iv. Approximation
Model Polynomial

Codes :

I mn m v

(A v i i i

(B) i i v [

C i v iii

(D) v 0 i i

Identify the Five Year Plans when
actual growth realisation has been
higher than the growth target :

l. Fifth Plan

II.  Seventh Plan

I11.  Ninth Plan

IV. Tenth Plan

Codes :

A L I&II B|) I &IV
C) 1&1 (D) M&IvV

72.

73.

74.

75.
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Which of the following development

programmes is receiving 100 percent

funding as centrally sponsored scheme

from the Government of India ?

I.  Accelerated Power Development
& Reform Programme (APDRM)

Il. Rashtriya Krishi Vikas Yojana

I1l. National  Social  Assistance
Programme (NSAP)

IV. Women & Child Development
Programme

Codes :

A LILIN&IV

(B) &Il

C) M&iv

D) L&

Rank the States in descending order
of their size of State Domestic Product
at current prices in the recent years :

l. Karnataka

Il.  Maharashtra
I1l. Uttar Pradesh
IV. Tamil Nadu
Codes :

A LIV, &I
B) HLIV,1&II
C) IV, 1&I
D) 1L HLIV &I

What has been the share of the “food,
beverages and tobacco’ in the private
final consumption expenditure in
India in the recent years ?

(A) 25percent (B) 33 percent
(C) 45percent (D) 56 percent

Find out the incorrect statements

from the following statements :

I.  Savings, credits and insurance
are the parts of microfinance.

Il.  Share of agriculture in the GDP
has come down to below 11
percent in India recently.

I1l.  CSO has revised the consumer
price index series on new base
2011 =100.

IV. Poverty estimation in India is
done on NSSO data.

Codes :

A 1&IV (B) 1&Il

C) 1&Ill (D) &l
J-01-13



69.

70.

71.

T WIROT fagetoor o |IROT 1 ST=etdl
/ STERAT T TS HH F o B H
TETOT HT IUANT TR SR 2

(A) TTEF JoT TLEToT
(B) dGis WSS URieTur

(C) HihRA 3R TG

TreIoT

(D) TRMoF-afeq FieTeh! TRIeToT

T — | 1 I — || % T GAferd L

3T A fow e @ W ST H T
= - | = - 1

|. e i, HHESE
T TEETT
(*TTE) HieA

Il SR & i, S TR0
TR HiEe

NEicicka) iii. 3FTepel e
Hieed

IV. S0 %1 Heed  iv. Tf~Tehe Sguar
% :

(=N

(A v i i i
B) i i v i
©) i v i i
©) iv i i i

G FRATIh TGty W, Tghg oo §
31tk off A Joad AT i off ?
I, dfed Jen

[I. Srdt g

1. =iet g

V. @&t g

T

(A) LIS (B) I, 13RIV
(C) 13w (D) IRV

72.

73.

74.

75.
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frfcfad 7 & o9 91 O s

TRAT TWHR T H5d Jaltdd I o &9

T 100 ufersrer fHfeeRtor s =Y 1 € ?

|. @R e o™ Td gur HEm
(APDRM)

1. U= Fiy s Fismr

. T AT GeEdr HEshd
(TA.TE.T )

IV. HAfeeT e aret forehr Hrshd

N

(A) 1,11, 1l SRV
(B) 13RIl

(C) Nl 3ARIV
(D) I, 13RI

TAfeTiET T=at i, 81T &1 o ol | =]
FHITT TR ISTDHT T ST 6 3HR &
3TeRIE! 3H H, SIUTTT &Y

. AReH . ¥R
I, ST wee V. dfberg
E T

(A) 1,1V, 13w

(B) I, IV, I3l

(C) 11,1V, 13l

(D) 11, I, IV 3R

IR § T 3ty STaiT =19 | T,
U TSI AT TS’ T €A & b aut o
T fe @1 € 2

(A) 25 ufaerd (B) 33 ufderd
(C) 45 ufcera (D) 56 HfdwTT

?ﬁﬁﬁf@ﬁmﬁﬁwwaﬁr

I Fod, FOT X S gew fod &
T E |

Il.  9RT H, g & |, STed. § $y
?%wnmﬁ@amﬁw

|

I, xﬁwaﬁ .9[ egﬂoml I
gahh U IER
2011 = 100 9X Geiifue fepam & |

IV. YRd H TR« & i
TATHUE. 3, 3he & MR W
R ST & |

| 11
a1l

A) 13RIV (B)
(C) I3l (D)
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ECONOMICS
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

Who is widely known as the founder
of Austrian School ?

(A) W.S. Jevons

(B) Leon Walras

(C) Knut Wicksell

(D) Karl Menger

For substitutes, cross elasticity of
demand is

(A) Positive
(B) Negative
(C) Zero

(D) Always less than one

Reservation wage means

(A) Fair wage at which workers are
willing to work.

(B) Subsistence wage at which an
individual is willing to work.

(C) Minimum wage at which an
individual is willing to work.

(D) Maximum wage at which an
individual is willing to work.

An economic region of production

consists of

(A) The positively sloped portions
of all isoquants

(B) The negatively sloped portions
of all isoquants

(C) The middle of all isoquants

(D) The highest points of all
isoquants

Elasticity of substitution is

(A) The substitution of cheaper
inputs for dearer inputs.

(B) The rate at which the inputs
(labour and capital) are
substituted.

C) A measure of the
responsiveness of input ratio to
a change in input-price ratio.

(D) A measure of the
responsiveness of input prices
and the substitution of the
cheaper inputs.

Paper-I111

In game theory model, strategies include

I.  The potential choices to change
the price

I. To develop new or
differentiated products

I1l.  To introduce a new or different
advertisement campaign

IV. To build excess capacity

Codes :

(A) Il and Il are correct.

(B) Iand Il are correct.

(C) I, Il and Il are correct.

(D) All are correct.

Pareto optimum implies

(A) A resource allocation for which a
Pareto improvement is possible.

(B) A resource allocation in which
social improvement is possible.

(C) A resource allocation for which
atleast one is better off and no
body is worse off.

(D) A resource allocation for which
there are no Pareto improvements.

A model of oligopoly in which one
business sets output before the other
business do is

(A) Cournot oligopoly model

(B) Bertrand oligopoly model

(C) Stackelberg oligopoly model
(D) Chamberlin oligopoly model

Assertion (A) : Sunk costs are not
relevant to economic decisions.

Reason (R) : The opportunity cost of
such resources is zero.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) (A) is correct, but (R) is not
correct.

(C) Both (A) and (R) are correct,
but (R) is incorrect explanation
of (A).

(D) (R) is correct, but (A) is
incorrect.
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g — |11

T T UEATH H UEER (75) Tg-Toehetia wee € | TS U % ¥ (2) 3 € | welt v aitrard €

1.

T Wl & s TEIIH B
g7

(A) T=YUE. S

(B) foIsT amewy

(C) = fashdat

(D) I B=IT

TG o {oTT | Bt STTEl o 8iell &
(A) €S

(B) ZRUTTCHh

C) ==

(D) UM UH T FH

STRTRT TG o1 37 &

(A) 3hod Aot e W A S
FH F TH T |

(B) fate wergdt v W =afe
HH B AARE |

(C) = oy o9 W =t =
FH H THF €

(D) afyehay TGyl o9 W Ao
F B TARE |

TS o I &7 | It &

(A) I TH-IEE Tl F AR T
 gorat 9nT

(B) W HH-3R Tl o FRUTCHS &
 gordt 9nT

(C) Tft §H-ITUIE T5hi o HeA AT

(D) Tft TH-3E ki o ooy fog

Hfeema—= & oi" &
(A) HET AT & T T ST B
PIGEIRE]

(B) T ¥ W W (3™ T TS
TfaenTad i S € |

(C) SWa-Hud U H uRed— &
T ST 31T St HfaTshareiterd
<l HIT

(D) oW HEal 3R T N &
TTTEATO Sl ATdTsHATeIern ST AT
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6.

T SR} Higel o AR =iaar § IMHe & :

I, HEd a5eH & qrIeT faehed

. a9 orEr foulka SR &
Toiaa e

. Ta° =1 o= fosmom e =
3R] AT

IV, e erar ffaa s

E T

(A) 1N RINTEE |

(B) 13RIITEE |

(C) I, N3TNTEE

(D) WfrwEre |

Rl g2 & A &

(A) TEEE 3eed e o e
YR I ¥ |

(B) TOH IEed EH gt
QYR 079 € |

(C) wamH 3feed oo ford &7 4
E;ﬁﬁé@ﬁ?%aﬁraﬁ%ﬂﬁw

|

(D) THme emEe e ford =i et
QIR TR T |

FMYHR T HISeT TEH Th Fadd
T O FRT 3ARA & 9 Tgel
3T SeATE eI AT € |

(A) I STAMIHR ASA

(B) T T STINIHR HISH

(C) THoTeRT T STUIMIHR Tt

(D) <RI 1 SUMEHRR HSH

Ao (A) : o= o e
fotat & ferd orfires 2l & |
HRUT (R) : U TG Sl 31T AT

I B € |
H

(A) (A) 3R (R) =HI Tt & 3R (R),
(A) T T& AR E |

(B) (A)®el &, W (R) Wl & & |

(C) (A) ¥R (R) T Wl &, == (R),
(A) =t TE AT TEE |

(D) (R) W&l &, W= (A) T & |
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10.

11.

Match the statement given in List — |

with that given in List — Il and

choose the correct code :

List— 1

I. Employmentand .
output are
determined solely
by the factors
operating on the
supply side of the
labour market,
according to

List - 11
Karl Marx

Il. The term ii. Classical
‘classical’ was economists
coined by

I11. The classical iii.J.M. Keynes
production

function was used
to derive the
aggregate supply
function by
IV.A linear aggregate iv.Keynesian
consumption economists
function was used
by

Select correct code for the correct

answer from the following :

Codes :

I imn1m1wv
(A) i iii i iv
(B) iv i i iii
C) i i v ii
(D) i i i v

The permanent income hypothesis is
consistent with cross-section and time-

series data because

(A) Higher-income households are
savers since their current
income  includes  positive
transitory components.

(B) Higher-income households are
savers since their current
income includes  negative
transitory components.

(C) Lower-income households are
savers since their current
income includes  negative
transitory components.

(D) Lower-income households are
savers since their current
income includes  positive
transitory components.
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12.

13.

14.

Which of the following statements is true ?

(A) Net investment is more stable
than gross investment when
replacement  investment s
constant over time.

(B) Gross investment is more
stable than net investment
when replacement investment
Is constant over time.

(C) Replacement investment equals
capital-output ratio times the
expected increase in output
(V—Ay).

(D) Net investment is greater than
V-4, when the capital-output

ratio (v) decreases.

Match the demand for money
approach given in List — | with their
propounders given in List — Il and
choose the correct code :
List— 1 List— 11
I. Inventory i. Milton
Theoretic Friedman
Approach
I1. Cash Balance ii. James Cohin
Approach
I11. Portfolio ii.W.J. Baumol
Optimization
Approach
IV.Quantity Theory iv.Cambridge
of Money Economists
Codes :
I i1 wv
(A iv i i i
(B) iv R [T I |
(C) i v i [
(D) i v i i

Assertion (A) : According to Keynes,
individuals hold either cash or
all bonds.

Reasoning (R) : Because, according to
him, the speculative demand
for money is associated with
uncertainty.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)iscorrect, but (R) is incorrect.

(D) Both (A) and (R) are incorrect.
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10. g — | ° 53 w6 g - 1] H 53

T % T Gl B AR A 5D Fed
Y el ST BT T B
= - | =it - 1

|. fFEd SR, ASTIR i, el Ao
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ISR % (T qeT
gi=enferd sReRt §RT
& FuiRa g € 2

1. “SoTdiehel’ Iy
Tohe mfqutea foham 2

[11. 999 3M9f For
epTeT % fow
TRERERT e
AT T SUINT
e T 2

V.39 T U9 iv. At
AT T ITINT ST
e T 2

ffeiad o & T8 ST % fofe W& % A

i, TR
T
iii.s.08. &=

(=N

(A)
(B)
(C)
(D)

11, I ST UReHeTAT ST HIE I THT

awa%ﬁq:

%< .

I i wv
T TR iv
v o i il
R | T AV
i i v

IROT Sehgl & SET il & Fih

(A)

(B)

(©)

(D)
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3H-HTT °|‘n¢| L{lr\{clli ®|'°|('|°|’>‘('ﬁ %ﬁﬁ
€, iR ST T1e] 3T | FTHh
&fUTeh GEeh SMTHeT &Il & |
ITH-3TF 11T INER Seraehdl g
g wHEie SAE 9] o H
FOTCHS &T10Teh a7 ST ek
TAE |

T -31mg o aiEr st &
g, i SR W] o™ o
Eruirc ol collo e e DI e
AT |

FIE IAD A AT H TR

eafoTer / STEI) GEesh Bid ¢ |

12.

13.

14.

At 5 | &9 91 FF TG ¢ ?

(A)

(B)

(©)

(D)

SERINE I E e CH IR Tty
&l & o Feet Few et Few
! T | AT TR B € |
ST Uiae T e TEaeR R
@l & o Gehel e et Few
! T | AT (R Ear € |
Hfoeme e Saea # erfed
I (v - A) T oS ST
% R BT E |

ST GS-Seae 3T (v) e §
et foeret BT v — A afereh g
g

gEr - | H K3 T ggT w7 Sunm @
gdar - 1l f§U A% ufaueent & arer

AT Y AT T FIE H I N
= - | =t - 1
I g=igl eaRfes i, foeeT wmieaq
T AT UM
[I. 6% 919 SUFTH i, ST e
1. FeRiterar iii. S . St
FEEAHHIOT SUNTH
IV . F5T gi@momeT®: v, i
g ST
FT
I i ua v
(A v i i i
B) iv i i i
©) Qi v i i
(D) i v i i
AFYA (A) : F % IR, AT AT

a6 e T GHE S-S WEd § |

HROT (R) : Fifh, 37 3TAR, AT
[ HU  AFREIA k@
rEfyd E |

T

(A) (A) 3R (R) A @& € 3k (R),
(A) & TE AR E |

(B) (A) 3R (R) &I ®el &, W (R),
(A) & TE A T E |

(C) (A) W&, W (R) T TR ¢ |

(D) (A) 3R (R) 3T &t &l & |
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15.

16.

17.

Which one of the following is not a
correct interpretation of the Golden
Rule of Accumulation ?

It is that capital per person at which
(A) Savings per person and

investment per person are
maximum.
(B) Marginal  productivity  of

capital is equal to the rate of
growth of population.
(C) Marginal  productivity  of
capital is equal to saving ratio.
(D) Elasticity of output with
respect to capital is equal to
saving ratio.

For particular high values of
marginal propensity to consume and
the accelerator coefficient, explosive
non-oscillatory cycles will occur in
the model of the business cycles
propounded by

(A) Paul A. Samuelson

(B) J.R.Hicks

(C) Nicholas Kaldor

(D) All of the above

In the context of IS-LM framework,
which of the following statements is
false ?

(A) IS curve is steeper, the lower
the value of the Keynesian
multiplier and the lower the
interest sensitiveness of
investment demand.

(B) Crowding out is effective when
money demand is perfectly

interest inelastic and
investment is perfectly interest
elastic.

(C) The fiscal policy is least
effective and the monetary
policy is most effective, the
higher the interest sensitiveness
of money demand and the
lower the interest sensitiveness
of investment demand.

(D) The Pigou effect restores the
effectiveness of  monetary
policy even under the liquidity
trap.
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18.

19.

20.

21.

22.

Assertion (A) : The fiscal policy is
less effective in an open
economy than in a closed
economy.

Reasoning (R) : Because the value
of the multiplier in an open
economy is less than that in a
closed economy.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)iscorrect, but (R) is incorrect.

(D) Both (A) and (R) are incorrect.

Embodied technical change model is
based on which production function ?
(A) CES

(B) Cobb-Douglas

(C) Translog

(D) VES

“A technical change is neutral if at a
constant rate of profit or interest, the
capital output ratio also remains
constant.”  This  concept was
propounded by

(A) Kaldor (B) Hicks

(C) Solow (D) Harrod

Endogenous growth models have
been developed by

l. Kenneth J. Arrow

Il.  Paul M. Romer

I1l.  Robert E. Lucas

IV. R.M. Solow

Codes :

(A) landll (B) MHNland IV
(C) Ltandlll (D) I, MlandIV

Kaldor’s growth model is based on

the following assumptions :

l. Output consists of wages and
profits only.

Il.  Investment output ratio is an
independent variable.

I1. MPg and MP_. are constant.

IV. There is less than full

employment.
Codes :
(A) land IV (B) MHandlll
(©) Hland IV (D) Tlandll
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15.

16.

17.

qo & @ Eam # wE e

et | & @ e & 2

I o Ul =afert oTt STer X

(A) vid =l a=d X uiq A
Tt frepem € |

(B) st =t T ScaGehdl STHGE
H g B W H IR E |

(C) USTt = HHwd Scagshar sed
AT % SRR |

(D) ST % @TUeT SeAE W A e
3T & SRR T |

faeueEr S w d@ue wga 3
T U o 3= Jod WY, fohies Y-
Tl ok fREeh FRT WiAuied SR
T & Higel | U ST € ?

(A) Tt T Segere

(B) .31 fe=d

(C) FopieTd FoeRk

(D) wde w+ft

IS-LM ®9@r & ¥ey H, Hefarad |

Y D 91 o e & 2

(A) FHTER T 1 Jod e e
g X fEw wm oW &
Hagaeierdn et = € 1S Tk
3ol SAfasreT g

(B) & HRT HET YUIAAT AT SAERR
& 3R farer quidan == «ieRR €,
T SHISE TS’ TS U7 BT |

(C) ST& TSI HIT &t ST YogAsiierd
I € AR fEw wE s S
HogelierdT = &, af ToTehig
A w9 @ wH TwEl B § A7
THifger Fifd Feferes wel e € |

(D) U] T, TRETAT STt & 3FRY ot
Hifger i o TSI oo of

AT |

J-01-13

18.

19.

20.

21.

22.

Ao (A) : IEEE AT T
afemE  H Il gl
STeeTeT | 7 T Bl ¢ |

HROT (R) : i Golt sreiegawen o
TR T Hod S ST i
3TURT HH BT & |

T

(A) (A) &R (R) S Wl & &R (R),
(A) T T& AR E |

(B) (A) 3R (R) I @l & = (R),
(A) =t TE == T E |

(C) (A) W g, W (R) T ¢ |

(D) (A) 3R (R) 31 Toid & |

gifera  (3dites)  delsl  gNEad
Hieet fohd IS Told T SR € 2

(A) wWzTm (B) w g™
(C) g (D) drzTd
‘Al T AT AN B TR T W G-

SIS 3T o feR et €, df deheith

IREdT T @ § 17 — @ STEYUROn

1 Tha fquitse e ?

(A) FHER (B) fe=w

(C) e (D) &s

P T E ?

. SIS T |l O Ty I

. Faz o IV, IRud. et

F:

(A) |3l (B) I 3R IV

(C) LU= (D) I, 13RIV

FeER  H Uy Hiew [=feRad

ATaTeT W S €

I ScIRA § O Beigdt SR AN U
S & |

Il T7erT 3T oA U @&ad o
|

1. MPg #RX MP. feRi& € |

V. &€ 907 ISFIR § HH e ¢ |

(A) 13RIV (B) 13RI
(C) msIv (D) I3l
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23.

24.

25.

Assertion (A) : Innovations in one
field rarely induce innovations
in related fields.

Reason (R) : Once an innovation
becomes  profitable, other
entrepreneurs  follow it in
“Swarm like clusters”.

Codes :

(A) (A) is not correct and (R) is
correct.

(B) (A) is correct and (R) is not
correct.

(C) Both (A) and B are not correct.
(D) Both (A) and (R) are correct.

Arrange the concepts of Endogenous
growth model in a sequential order :
I.  Production of ideas by research.
Il. Learning by doing.

I1l. Learning by investment.

IV. Learning by watching.

Codes :

(A) 1LV

(B) IV, I, 1,1l

©) LI, al

(D) I, 1V, 1

Match the items in List — | with
List—11:
List—1

I. Increasing
outlay on
education
leads to rapid
Economic
Growth

Il. Spread Effects ii. Kaldor

I11. Theory of 1. T.W. Schultz &
Demographic others
Transition :
Five Stages of
Population
Growth

IV.Widows Curse iv.Gunnar Myrdal

Codes :

List—11
i. C.P.Blacker

T,
A i i v i
B) i i i v
C) v Qi i
(D) Qi v i i

Paper-I111

26.

217.

Match the items in List — | with
List—11:
List—1 List—11

I. Capitalistrules i. Karl Marx
of the game

I1. Embodied ii. UNDP
Technical
Change

I11. Industrial iii. Robert
Reserve Army Solow

IV. Human iv. Joan
Development Robinson
Report

Codes :

I mnu v

(A) i ivodi [

(B) i ioivo il

(C) i i v

(D) v i i i

Assertion (A) : Dependence of Less

Developed Countries (LDCs)
on Developed Countries (DCs)
is the main cause for the
underdevelopment  of  the
former.

Reason (R) : “This is because of
historical evolution of a highly
unequal international capitalist
system of rich-poor country
relationships.”

Codes :

(A) (A) is correct and (R) is the
correct reason for (A).

(B) (A) is incorrect, but (R) is
correct.

(C) Both (A) and (R) are incorrect.
(D) Both (A) and (R) are correct.
J-01-13





23.

24.

25.

afirper (A) : fdr & § Fave a
TFelrreoT foRer & wratea e o
T T TeHITET A & |

HRU (R) : TH IR Favad" AHR!
I ST & o 3T SEE “gUg A
TS | 30 US-09 ¥eid ¢ |

H

(A) (A) T T ¢ 2R (R) Wl & |

(B) (A) W& 3 (R) W& &I ¢ |

(C) (A) 3R (R) 5Hi Wl Tl & |

(D) (A) 3R (R) SHI T T |

st Tglg HEeT Sl STTURUMST i
STFIshITe S | SFamed &Y :
I e g et =6 St
Il. 1 & gu HiET

1. f7erT 5T S

V. 3@ & |iE

FT

(A) 1L 1L IV

B) IV, I, 1, 11

C) Liuv,

(D) I, 1V, 1L

T — | WS AR R g - | H S
TR % 1T AT Y
= - |
. e oY atferes
uRe diier 2T
g 1 3T SR

FIATE |
[1. ST ST TR ShYaT
T
111, ST ThmoT T iii. 21,
g SHEE ST TE 3T
|V faemansti 1 sma iv. TR feier
T

I i ua v
A i i v i
B) i i i v
€) v i i i
D) i v i i

= - 1
i, T e

ii. el
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26. G- | A H H g - 1l H &

27.

T o | GAfer
= - |

|. QA % Ysfamar
IEEE)

II. |fwferd EHaifes) ii. 3.uA.Str
EICARNECRE)

1. ST=ntres e |0 i Tee Gt
V. 9a T o iv. S Qfa=

6T

(=N

=t - 1
i. et AR

(A Qi ivoii
B i i iv i
©) i i i v
) iv i Qi

afirper (A) : &9 fawtaa e @
fopfaa 39 W Rdr 37 31ed

forehT T &7 HRT & |

(R) : “Z¢ wi-7Hia I3 &
pat=ro I o N o 11 o
AL ISRl e &
Uqelias SEHE & HROT gl
g

HIROT

(A) (A) T ¢ 3T (R), (A) 1 Tl

FROTE |
(B) (A) Terd € W= (R) W&l & |
(C) (A) 3R (R) =1 TToid &
(D) (A) 3R (R) I T& € |
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28.

29.

30.

Which of the following is relevant
for Wagner’s Law of Increasing State
Activities ?

(A) Public expenditure does not
increase in a smooth and
continuous manner.

(B) Public expenditure increases in
step like fashion.

(C) There are inherent tendencies
for the activities of the
Government to increase both
intensively and extensively.

(D) Economy grows faster than the
governmental sector.

The share of the tax borne by the
seller will be larger

(A) if the demand for the product is
less elastic.

(B) if the demand for the product is
inelastic.

(C) if the demand for the product
has greater elasticity .

(D) if the elasticity of supply of the
product is larger.

The non-plan revenue expenditure of
Central Government on Revenue
Account include :

l. Interest payments

Il.  Subsidies

I1l.  Grants-in-aid

IV. Loans to Public Enterprises
Codes :

(A) land Il are correct.

(B) I, Il and Il are correct.
(C) I, 1l and IV are correct.
(D) I, 1, 11l and IV are correct.

Paper-I111
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31.

32.

33.

The Constitution of India provides
for transfer of resources from Centre
to States in the form of

l. Tax sharing
II. Loans
I1l. Grants-in-aid

IV. Grants for implementation of
Five Year Plans

Codes :

(A) I, 1l and Il are correct.
(B) land Il are correct.
(C) I, 1l and IV are correct.
(D) All are correct.

Identify the correct chronology of
implementation of the following
taxes in India :

l. Service taxes

Il.  Fringe benefits tax
I11.  Personal income-tax
IV. Expenditure tax

Codes :
A HL LIV B) HLILLIV
C©) uLiv, L (D) IV HLIL

The taxes which Kaldor proposed for
India in 1956 to check tax evasion,
supplementing income tax are

l. Capital gains tax
I1.  Annual tax on wealth
I11.  Personal expenditure tax

IV. Gift tax

Codes :

(A) 1land Il are correct.
(B) I, Il and Il are correct.
(C) 11, Il and IV are correct.

(D) All are correct.
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28. R &% dgHE ISTh fhaned & Fa

29.

30.

& ford freforiad 5 & o1 uriTes & 2

(A) eSS =g ey wd gad @
AT Tea & |

(B) WESIH® = WigHAT dieh 9
FEAT ¢ |

(C) WX F wfRE = st

T B € fF o e ¥ & qen
foraia T @ st € 1

TWHR &F B UL AR
ST Ot | el & |

(D)

Tarshdl X T SATRT AR 8
(A) 3T T HT AT HH AT E
(B) 3 a& &l HiTT SRR & |
(C) 3fg &g = | ! AT MUH § |

(D) AT % =t YT S A e
T

HST TN & o7 @ AT
T[T & | e &

. =S PTEe
. 3usH

. EE 38
V. QeI 32T i R

| 3% 1 W&t & |

(B) I, 113 INTEE
(C) I, N3TIVEE
AL 1SRV T E

11

31.

32.

33.

TRT ol GO 55 9 T T TETAT
T TEAROT 6T BT U A ol Fae
FAT S ?

. Y Sea
1. =07
1. TEE-3eH

V. UTeNE giemr fRated w9 &
fordl aFgeT

I, 1SR T |
(B) 13T E
(C) I, 1N3ARIVEEE
T T |

ORA ° Fefeied w0 & harea &
TET HIATHA LS

. Harw

Il STIE oy T
. =AfRTTT 3T
V. &a=sT

HT

(A) ILLIL IV (B)
(C) NLIV,I,I1 (D)

1, 1L 1V
AV I

FY TOT B AhA b [0 a9 1956 H
IRA & o1 FHeek o AT & T &
®Y H T T T TR T ?

I ST o &Y

I, TR W e 6
. ST T
V. 3T *T

1 3T 11 =& € |
(B) I, 113RINTEE
(C) I, HI3RIVEE |
ol T |
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34.

35.

36.

37.

According to the cost based
definition of dumping, dumping
occurs when a firm sells a product
abroad at a price that is less than

(A) Average Total Cost

(B) Average Variable Cost

(C) Marginal Cost

(D) Average Fixed Cost

Select the correct statement out of the

following :

(A) Multilateral Trade Negotiations
are a process of increasing
tariffs to trade among member
countries.

(B) Multilateral Trade Negotiations
are a process of increasing non-
tariff barriers to trade.

(C) Multilateral Trade Negotiations
are a process of increasing
tariffs but decreasing non-tariff
barriers to trade.

(D) Multilateral Trade Negotiations
are a process of reducing tariff
and non-tariff barriers to trade
among member countries of
GATT or WTO.

Consider the following statements :

As per the Trade Related Investment

Measures (TRIMs)

1. all restrictions on foreign
capital companies are to be
scrapped.

2. no restrictions will be imposed
on any area of investment.

3. imports of raw materials are to
be allowed freely.

4.  export of part of the output will
be mandatory.

Which of the above statements are

correct ?

Codes :
(A) 1,3and4 (B) 1,2and3
(C) 1,2and4 (D) 2,3and4

The fundamental cause for the
collapse of the Brettonwoods System
was

(A) the liquidity problem

(B) the adjustment problem

(C) the confidence problem

(D) all of the above

Paper-I111
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38.

39.

Match List — I with List — Il and
select the correct answer using the
codes given below the lists :

List—1 List— 11

I. Forward i. A device of
exchange covering
exchange risk
against the price
rise of foreign
currency.

ii. A contract to buy
and sell foreign
exchange against
another currency
at some fixed rate
in the future at a
price agreed upon
now.

iii. The movement of
exchange rate
between two
limits set by the
cost of moving
gold from one
country to
another.

iv.A mechanism
which merges
two separate
physical markets
into a single
market in
economic sense.

1. Hedging

I11. Arbitrage

IV.Specie
points

Codes :

I imnm 1w
(A) v i i i
(B) i i iv i
(C) iv i i iii
(D) i i v i

Arrange  the
ministerials in

following WTO
the chronological

order :

I.  Seattle

Il.  Cancun

I1l.  Singapore

IVV. Hong-Kong

Codes :

(A HL v, L B HLLI v

©) 1uLiv, 1 (D) 1LV,
J-01-13





34.

35.

36.

37.

ST (1) o ANT ST G
% AR, ST 39 qHT T ST & ST
FH IAE F fo5w ¥ FAfared ¥ &9
aﬂnﬁwéa?ﬁ%'

(A) 3Ed FA AT

(B) e uRad ANt

TAfcRET o ¥ T e o 9aT

(A) TEUET MR GO 95ed 90
% S AR WReR H glg H
T UhAT E |

(B) EWET =AMUR TEE IR &
IRIesh  STRIEl &l dgH @l
AT € |

(C) el AR Tl We[ehi i
IgH W] AR H TRUYH
TERTET hl T T ARAT T |

(D) T MR gE| e
GTdd) Tgar T=galsl. &
T 39 % dE AR WReH
3R TR-IS[oeh STael i HT HA
U E |

FAfefad w2t T foar

FOR  gErEd Few 3

(LATIAETH,) & AT

1. fooei ot wWHE W gEE

Tidel &l g S & |
2. fEw & foEl ot &9 W e

3. e O Sl A HA B gt

4. ;?TT[H F Aifee FaE e
|

SYIFT | T B T HT el & ?

e -

(A) 1,334 (B) 1,233
(C) 1,234 (D) 2,334

FeIISH G F AR BH H Jord
HIT o

(A) TR St TEET
(B) THWEISH St GHEET
(C) favama = woEn
(D) SwEw @
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38. A - | g — 1l % AT GAferd B

39.

3R A U F2 ¥ T I H T9H

T

= - | =t - 1

I emm . fadst §gr W wiud
o gfs & foes o
St & T A B
R

ii. fo=el 431wt ondt ag
! T SHIAd T AT
o fdl fer T W 3=
3T & a5t Wi ud
S B HioTE

1.0 9 T 39 @l
S ! AT g
Treifea gt dmstt &
o fat9g T A
o

iv. o fspanfafer St wfifqe
w9 ¥ 39U TR
I 3MIH 9 & Thed
TR ST € |

1. gfsm

TREEIEE]

IV.41q &g

FT
T TRLY;
(A v Qi i
®) i i v i
©) v i i i
() i Qi v i

Tg 21,30, & TS GYE B BT
W o AT Y

. diest

. e

. Rme

V. @FTeRmT

LT

(A ULV, LI (B) LI IV
(C© ILHLIV,T (D) LIV, 11
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40.

41.

42.

If Hong-Kong and Taiwan have
identical  production  possibility
curves that are subject to increasing
opportunity costs, then

(A) trade would depend on
differences in demand
conditions.

(B) trade would depend on
economies of large scale
production.

(C) trade would depend on the use
of different currencies.

(D) there would be no basis for
gainful trade.

Trade deflection is the diversion of
exports to a country within a free
trade area that has

(A) higher tariffs on goods
(B) highest tariffs on exports
(C) lower tariffs on goods
(D) none of the above

The formula that shows the correct

relationship between :

i Total demand and
liabilities (L)

ii.  Excess Reserves (ER)

iili.  Current-account balances with
other banks (CB)

iv. Investment in unencumbered

government and other approved
securities (1*)

time

v.  Statutory  Liquidity  Ratio
(SLR) is
Codes :
+ |* -
(A) SLR= ER IL CB
ER +I*
(B) SLR=T7TCg
L+CB+ER
(C) SLR= CI—*
*
(D) SLR= ER + IL + CB

Paper-I111
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43.

44,

45.

Consider the following :

l. RBI 1. SBI

I1l. NABARD IV. LIC

The financial intermediaries among
the above are :

Codes :
(A) Allthe four (B) I, 11,1V
(©) 1,1 (D) 1, 1v

Real balance effect relates to

(A) the effect which a change in
value of the real cash balances
held by the public produces in
the economy.

(B) the effect which a change in
value of the real cash balances
held by the commercial banks
produces in the economy.

(C) the effect which a change in
value of the real cash balances
held by the multi-national
banks  produces in  the
economy.

(D) the effect which a change in
value of the real cash balances
held by the NBFIs produces in
the economy.

Assertion (A) : Reserve Bank of
India raises money supply
through purchase of securities
in the money market.

Reason (R) : Increase in money

supply may result in the
expansion of investment and
employment.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) Both (A) and (R) are incorrect.

(D) (A) is correct, but (R) is
incorrect.
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40. 3 TR AR dAEEE Hl IART

41.

42.

I a5k UHAHM €, ST agat 3Taas

AT o 3THR Sgerd &, at

(A) =R 9T H et 8 R W
T BT |

(B) =MNUR &¢ YA % IARA H
frqaatadrstl o T ST |

(C) =R M= Hal & T W
T BT |

(D) 3% HAUR & [T g MR =
g |

R foey =1 Ao Far s 39 99
H g JIAT & ST WA AUR & §
T & ST Feferfaa €

(A) & W 3= Wesh

(B) Tl W 3= We[e

(C) =& WA WR[eh

(D) S H | T &l

FAfeRad o aTe el Ty TR0 Aol

T HME ?

i. %ol AT U §HE <@ (L)

ii. oAl i (ER)

iii. 3 d% % UG @] Wi 99
(CB)

v,  STHIORT RT3 Wi
wfefear & e (1%)

v.  Hifaryeh alerdn 3A (SLR)

ER+I1*-CB
L

ER +I*

L+CB

L +CB +ER
(C) SLR= e

(A) SLR=

(B) SLR=

ER+I1*+CB

(D) SLR= C
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43.

44,

45.

o o

FfeRad o) faam &
ot A A |
1. =S \Y
ST ¥ fordia mer ¥
FT

(A) ST IS (B)
©) 1,1 (D)

TH 3T,
T, 378 4,

I, 1 v
I, 1v

T I TS {ohad Fraiee € 2

(A) SHAT % U SFHA THS IO H
0ed B giedd @ orlemaen o
ST TS

(B) aNfuifeeh bl & UMY 3T TS
6T o od § UNE & Foaey
I H 3T T

(C) =EIELT Sl & T A g
IS H oI A uRaeH H
IfHEE § 3 T9E

(D) THEILUF.SAE. & UG T THS
I % Tod | IRETT 6 HoRaey
AR H I~ YT

AfweT (A) . 9IRAE &9 S guT
IR | Afafaar &t Tlig & SIRA
T <l 3Mgfd o gfg e € |

HROT (R) : &1 MY § ghg T aiRom
fFerer den IR | foar @l
THAT T |

(A) (A) ¥R (R) sHi Wl & &1 (R),
(A) T T& AR E |

(B) (A) 3R (R) I @l & = (R),
(A) =t TE == T E |

(C) (A) 3R (R) T Tord € |
(D) (A) T e, =< (R) T € |
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46.

47.

48.

Match the items in List — | against
the items in List — Il and select the
answer from the codes given below :

List— 1 List—11

I. Simple i. 100% backing of
Deposit metallic reserves
System

Il. Maximum ii. Certain
Fiduciary percentage of
System total notes is kept

in specific
reserves.

I11.Percentage iii.Maximum note
Deposit issuing is
System statutorily fixed.

IVV.Bonus iv.Reserves of I0Us
Deposit and short period
System loans.

Codes :

I inu 1w

(A) v [

(B) i i v

(C) ii iav il

(D) i i i v

As per Micro, Small and Medium
Enterprises Development Act, 2006,
micro enterprises are those with
investments :

(A) <% 25lakhs

(B) ¥ 25lakhsto ¥ 5 crores

(C) T 5croresto? 10 crores

(D) >7%10crores

Match the items given in List — | with
those in List—11 :

List -1 List—11
I. Rangrajan i. Reportonsmall
Committee Industries
Il. Karve ii. Disinvestment
Committee of shares in
PSE’s
I1l. Dr. R.K. iii.Review of the
Hazari Policy for
Committee Public
Enterprises
IV. Arjun iv. Industrial
Sengupta Licensing
Committee
Codes :
I mn m v
(A) i i v i
(B) iii v i
(C) i i iv il
(D) i iv i iii
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49.

50.

ol.

52.

53.

The Eleventh Five Year Plan aimed
at generating

(A) 15 million work opportunities
(B) 35 million work opportunities
(C) 58 million work opportunities
(D) 100 million work opportunities

The Unorganised Workers Social
Security Act came in existence in the
year

(A) 2001
(C) 2008

(B) 2005
(D) 2012

The share of industry in India’s GDP
in the year 2006-07 is estimated at
(A) 20% (B) 15%

C) 45% (D) 26%

According to Hotelling rule about the
exhaustible natural resources, which
of the following is used for price
variation of the exhaustible natural
resources :

(A) Rate of interest

(B) Labour cost

(C) Rentand royalties of mines

(D) Production cost and royalty of
mines

Suggest the correct answer about the

‘Pigovian Tax’ :

l. Provides solution in order to
‘internalize’ the total costs of
an activity into the market.

Il.  Provides solution to reduce the
production of  pollutants
through public policy.

I1l. It helps in increasing the factor
productivity in the real sector.

IV. Itacts like a severance tax.

Codes :

(A 1&1 B) &IV
C) LIU&IV (D) LILIN&IV
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46. T — | % "R 1 AT — |1 % AT W
goferd Y AR 99 T $ § 3T H
T

=i - | =t -
| SeRoTSET . g Ree @
JOTTAr 100% e
Il. s i, et At B TS
I AT PicMERCHERTSC
fower@ yomett AT S Y |
1. 7fqera ST i, 3Teha™ e STRY
JOTTA AT Fitargd €9
o Fea e g |
V.S s iv. 3731 . o Rerd
JOTTAT 3 THIAR
gl
FH
T
gAi TR VAR [
B I i iv
C i i iv il
(D) i i Qi v

47. gem, o AR TEw Y faww
ayf=m, 2006 & TR, TeH 39 a8
& TSTent frrarer Tfer &1t &

(A) <% 25°md
(B) T25¢m@d I 5 &g
(C) I5wSTVI IO IS
(D) >Z 10T
48. gt — | W TR B g — || H TR H
e g
= - | =t - 1
| TIRSH 9Efd i, &g 3T ) Rae
II. =a HE i, U@ T afel
EARCIECH
1.5, 3T, iii.Ere 3T =it
TR A TARTATR
IV. 3 AT v, 3t
FH AR
Fe !
I (| I 1 ] . AV
(A i i v
(B) iii v i
€ i i v i
(D) i iv i iii
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49.

50.

51.

92.

53.

TREE] THauE JISTT T A8 feoha i
TR G LT AT ?

(A) 15 Tafera & /e

(B) 35 Mafera & se@w

(C) 58 MferaT w3

(D) 100 faferas HE 2@

TS IR AT Gl STt
T o o & 2

(A) 2001 (B) 2005

(C) 2008 (D) 2012

¥ 2006-07 T 9RA 3 SIS, H AN
% fesd o7 3T ormaT T o 9

(A) 20% (B) 15%

(C) 45% (D) 26 %

fr9FE wipfaes dEeEr % SR o
gefem M % oER, M
TTeh{deh GHTEAT & SiAd TRea & ford
Tr=Afertaa & 9 fohaent ST fokar T 2
(A) =T I T

(B) = T

(C) @M Fl [T e W& Ik
(D) STRA @I SR @EFT ® @

e

“UN] T % IR T TEl IR Jared

I, foFam @l 1 ANl H ISR o
FHT HH & [od TEE
TS AT & |

I, SesHe Aifd & SIRE U5t &
SR H HH B B A TS
FATE |

1. ardfee &3 § SR i SAEeh]
T T T el T € |

V. I Fshuor &Y o a8 1 Bl
g1

FT
(A) 13RI (B) 13RIV
(C) LISRIV (D) I I IN3RIV
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54,

55.

56.

57.

Which of the following is correct
about the Contingent Valuation
Method (CVM) used in
Environmental Economics ?
(A) Itis used only for pollutants.
(B) It is used only for items with
positive utilities.
(C) It is used for
market failures.
(D) It is used only for natural
resources.

items under

Natural growth of population is the
outcome of the following :

l. Crude Birth Rate

Il.  Crude Death Rate

1. Migration

IV. Marriages

Codes :

(A) Onlyl (B) Only IlI
(C) N&IV (D) 1&Il

Identify the correct statement about
the relationship between total fertility
rate and gross-reproduction rate :

(A) TFR > GRR is possible.

(B) TFR =GRR is possible.

(C) TFR < GRRis possible.

(D) All the above is possible.

Why does the share of agriculture in

developing economies decline when

national economy is growing rapidly ?

l. Food becomes like inferior
commodity.

Il. Growth of agriculture cannot
be very fast.

I1l.  Industrial sector grows faster.

IV. Public spending on the farm
factor is not enough.

Codes :

A LILI&IV
B) I, &IV
(C) N&II

D) LN&IV
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58.

59.

60.

61.

Share of fishing in the GDP of India
in recent years has been around

(A) 0.8percent (B) 1.2 percent
(C) 1.7 percent (D) 2.1 percent

What is the economic  cost of
foodgrains to the Food Corporation
of India ?

(A) Minimum support price and

bonus paid to farmers +
transportation costs.

(B) Minimum support price +
bonus + interest cost.

(C) Minimum support price +
bonus + procurement
incidentals + charges for
godowns.

(D) Minimum support price

(including bonus, if any) +
procurement incidentals +
distribution cost.

What is meant by farm mechanization ?

(A) Using only machines for farm
operations.

(B) Replacement of biological
sources of energy by the
mechanical sources of energy
for farm operations.

(C) Using machines, tractors, tube
wells, etc. for agricultural
production.

(D) Using machines, tractors, tube
wells, fertilizers, etc. besides
soil testing and certified seeds
for agricultural production.

Inter-sectoral terms of trade in an

economy refers to

(A) ratio of prices received and
paid by the farmers.

(B) ratio of domestic and
international price of farm
commodities.

(C) terms at which government
purchases farm produce.

(D) trade of industrial products in
the foreign markets.
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o4,

55.

56.

S7.

TITEROT TR H SUANT foRd S aTett

TG Jeaieh HoTett (CVM) & ar o

frfoafaa & @ w1 W@ 8 ?

(A) T& HIA USTR & ferd SN
fopar ST 7

(B) I TO% eMTcHs SUAITATST Ford
&1 & ford o fopar ST € 1

(C) % IR fawerdret & 3farid el
% o1 SuFnT T ST € |

(D) =& Ta% uiplas dae & ford

STANT fhaT ST & |

SHEEAT S WHAE gy fhae arRom
T

I TIed SR
1. 3ToMted e
. v

Iv. foame

T

(A) Tk

(C) Il 3RIV (D)

(B) & I
| 3R 11

FA TS X AR Fehel JAGARA 8T &
i T o R H el U Fared
(A) TFR>GRRE¥®ET |

(B) TFR=GRRE¥=EY |

(C) TFR<GRRE®™MEY |

(D) SUgT Tt Ty € |

S AT e oSt | foeiad e

T Bt € Al foreprasier srdegeEet o

@f&m%@@mﬁﬁ%”
T e o 99 s ST € |

|| F 1 fohd Sgd o @l @l
THaT |

11, st & oSt & o &
g

V. F &3 W qesi-e = w@e
T A E |

T

(A) 111, ISRV

(B) I, 13RIV

(C) N aRII

(D) I, 13RIV
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58.

59.

60.

61.

aa | SELd. o Hee Ui o fee

ETCT &1 o o8] § T fehe T T 2
(A) 0.8ulded  (B) 1.2 Wiaerd
(C) 1.7uiaea (D) 2.1 Wiaerd

IRA & @ T & fod @mr &

3T AT T & 2

(A) =TT FEAF HiAd R HAET R
fea a1 S + IREe e

(B) —aH HUUH dEA + qHE +
ST Sl AN

(C) =7aw ¥Hdd Hmd + T +
TII0T  SAhHAT +  TSEl bl
TR

(D) A" gHdq @Ud (@HE gHA
aﬁ@%wwamﬁmaﬁrq
foaRoT AT

I FiCHRIHIOT T T AT T ?

(A) Tt & wEt & ford fad T
ST T |

(B) Tt % HE % ford o1 o AH
Hal gRT Sl o SAferh Eedl
T |

(C) PN SR & o HefiA, e,
ZFIAAT TS BT STATT HAT |

(D) HT ScueA & fotd a1 WRIeTor S
Ao 63 T8 S 6 ST &

SEThI T ST |

EEET B AR AWK A 6

Ty fohed € ?

(A) THTFT R T8 3T U i
<hl AUIT

(B) HiT SRS I W T HRGHE
FHITT T ST

(C) o ¥t 19 W THR HY I
TIEA E |

(D) focel a=Rt § 3frenfier Seat
IR
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62.

63.

64.

65.

The utility function is given as
U = f(x, y), where U = total utility
and x & y are two goods consumed.
The budget constraint is given as
C=p, x+ Py Y, where p, and py are
the prices of ‘x” and ‘y’ respectively.
The condition for maximisation of
utility is

(B) 2—)‘:/%: IDX/on
© 555

The total cost function and the market
demand function of a competitive firm

1
are C = §x3 — 10%2 + 9x + 1000 and

X = (12 — p)/9 respectively. The level
of output at which profits will be
maximised ?
(A) 1
€ 3

(B) 2
(D) 4

An input-output model which has
endogenous final demand vector is
known as

(A) Open Input-Output Model
(B) Closed Input-Output Model
(C) Static Input-Output Model
(D) Dynamic Input-Output Model

Let the two regression lines be given
as: 3x =10 + by and 4y = 5 + 15x.
Then the correlation coefficient
between x and y is
(A) -0.40

(C) 0.89

(B) 0.40
(D) +1.05
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66.

67.

68.

The estimated regression equation of
the formy = oy + o X; + o, + € is
y =-6.79 + 1.79(x,) + 0.97 x, and
SE (o) = 1.32, SE (o) = 0.41 and
SE (a,) = 0.53. To test H; : a; # 0,
the test statistic | t | is equal to

(A) 5.144 (B) 4.366
(C) 1.830 (D) 3.377
Given that the Cobb-Douglas

production function is :
y=AL*KP o, >0

Match List — | with List — Il and
select the answer from the codes
given below :

List—1 List—11
I. Increasing returns i. a+p=1
to scale
Il. Decreasing returns ii. o +p>1
to scale
I1l.Constant returns  iii.a+p<1
to scale
IV.Diminishing iv.a, <1
returns to factors
Codes :
I nu 1w
A) i o v
B) i mooivodi
© i \Y%
(D) v i i [

In the presence of heteroscadasticity,
the best linear unbiased estimators
are provided by the method of

(A) Ordinary Least Squares
(B) Indirect Least Squares
(C) Weighted Least Squares
(D) Instrumental Variables
J-01-13





62.

63.

64.

65.

I SR e U = f(x, y) & 3%
FoT ST U & 3R x 3k y &
IT Y & | AR aee Ry
C=p X +p, Y & &l p, &N p, HA:
‘X’ 3T ‘y’ S HEd &, Al ST
atfereherieRTor i ferfe < it 2

of of _Py

8x/ay_ /IOx

of of P
(B) 8x/ay_ /IOy

(A)

(©) 5=5=r"

O =%,

g AfqarT ®F & PHoT AN Feld 3R

. 1
IR {0 ®edd shasT: C =§x3 — 10x2

+ 9x + 1000 3T x = (12 — p)/9 ¥ |
FAEY B W A W IR H &
AR BT ?
(A) 1
(C) 3

(B) 2
(D) 4

519 - (3Ye-3T3eye) Hiewd
FHEATT T 2

(A) el AMTE-Fa Aiew

(B) d% 3mTd-fid Higet

(C) wfd® mma-fa Afew

(D) TIATCHSE STTA-FTd Hige

A A 3 GEEEUT Y@ SRS
3x =10 + 5y 34y =5+ 15x & |t
Tt x 31T y & e THISE0T Ot g

(A) -0.40 (B) 0.40

(C) 089 (D) +1.05
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66. WA fHY = o + oyX; + X, + €

67.

68.

EET H GHEHOT Y = — 6.79 + 1.79(x,)
+ 0.97 x, ¥ 3 SE (o) = 1.32 %,
SE (o) = 0.41 & 3R SE (0,) =053 2 |
Hy @ o, # 0 % &0 &1 & o,
TRIETOT WiteTehl | t | Tohareh SR & 2
(A) 5.144 (B) 4.366

(C) 1.830 (D) 3.377

A9 @ o &9 T8 SURT hed
fAfefad & :

y=AL*KP, a, >0

a8 9 gt — | % wei B g — |l
% TR % G GAfed Y SR A 5

FT T el SR B 9T B
= - | =i - 1
l. 9= & FEaH i a+p=1
AfThet
1. 99 o Frag= i.a+p>1
AfThet
.99 & feR ofawd jila+ B <1
|V R & A iv.a, p<1
AfThet
e -
I inm v
(A) i i v
B) i v i
() I T T T iv
(D) iv i il i
Temfear &t Sureid §, Faray @
3T a1 98T STheteh TR fatg g1
Y 1 & ?
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69.

70.

71.

To test the stationarity of the series in
time series analysis, the following
test will be used :

(A) Unit Root Test
(B) Random Walk Test

(C) Cochrane-Orcultt Iterative
Procedure Test

(D) Durbin-Watson Statistic Test

Match List — I with List — 1l and
select the answer from the codes

given below :
List—1 List—11

I. Koyck’s i. Adjustment
Lagged Equation
Model

Il. Almon’s ii. Geometric
Lagged Progression
Model

I11. Nerlov’s iii. Adaptative
Model Expectation

IV. Cogan’s  iv. Approximation
Model Polynomial

Codes :

I mn m v

(A v i i i

(B) i i v [

C i v iii

(D) v 0 i i

Identify the Five Year Plans when
actual growth realisation has been
higher than the growth target :

l. Fifth Plan

II.  Seventh Plan

I11.  Ninth Plan

IV. Tenth Plan

Codes :

A L I&II B|) I &IV
C) 1&1 (D) M&IvV

72.

73.

74.

75.
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Which of the following development

programmes is receiving 100 percent

funding as centrally sponsored scheme

from the Government of India ?

I.  Accelerated Power Development
& Reform Programme (APDRM)

Il. Rashtriya Krishi Vikas Yojana

I1l. National  Social  Assistance
Programme (NSAP)

IV. Women & Child Development
Programme

Codes :

A LILIN&IV

(B) &Il

C) M&iv

D) L&

Rank the States in descending order
of their size of State Domestic Product
at current prices in the recent years :

l. Karnataka

Il.  Maharashtra
I1l. Uttar Pradesh
IV. Tamil Nadu
Codes :

A LIV, &I
B) HLIV,1&II
C) IV, 1&I
D) 1L HLIV &I

What has been the share of the “food,
beverages and tobacco’ in the private
final consumption expenditure in
India in the recent years ?

(A) 25percent (B) 33 percent
(C) 45percent (D) 56 percent

Find out the incorrect statements

from the following statements :

I.  Savings, credits and insurance
are the parts of microfinance.

Il.  Share of agriculture in the GDP
has come down to below 11
percent in India recently.

I1l.  CSO has revised the consumer
price index series on new base
2011 =100.

IV. Poverty estimation in India is
done on NSSO data.

Codes :

A 1&IV (B) 1&Il

C) 1&Ill (D) &l
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69.

70.

71.

T WIROT fagetoor o |IROT 1 ST=etdl
/ STERAT T TS HH F o B H
TETOT HT IUANT TR SR 2

(A) TTEF JoT TLEToT
(B) dGis WSS URieTur

(C) HihRA 3R TG

TreIoT

(D) TRMoF-afeq FieTeh! TRIeToT

T — | 1 I — || % T GAferd L

3T A fow e @ W ST H T
= - | = - 1

|. e i, HHESE
T TEETT
(*TTE) HieA

Il SR & i, S TR0
TR HiEe

NEicicka) iii. 3FTepel e
Hieed

IV. S0 %1 Heed  iv. Tf~Tehe Sguar
% :

(=N

(A v i i i
B) i i v i
©) i v i i
©) iv i i i

G FRATIh TGty W, Tghg oo §
31tk off A Joad AT i off ?
I, dfed Jen

[I. Srdt g

1. =iet g

V. @&t g

T

(A) LIS (B) I, 13RIV
(C) 13w (D) IRV

72.

73.

74.

75.
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frfcfad 7 & o9 91 O s

TRAT TWHR T H5d Jaltdd I o &9

T 100 ufersrer fHfeeRtor s =Y 1 € ?

|. @R e o™ Td gur HEm
(APDRM)

1. U= Fiy s Fismr

. T AT GeEdr HEshd
(TA.TE.T )

IV. HAfeeT e aret forehr Hrshd

N

(A) 1,11, 1l SRV
(B) 13RIl

(C) Nl 3ARIV
(D) I, 13RI

TAfeTiET T=at i, 81T &1 o ol | =]
FHITT TR ISTDHT T ST 6 3HR &
3TeRIE! 3H H, SIUTTT &Y

. AReH . ¥R
I, ST wee V. dfberg
E T

(A) 1,1V, 13w

(B) I, IV, I3l

(C) 11,1V, 13l

(D) 11, I, IV 3R

IR § T 3ty STaiT =19 | T,
U TSI AT TS’ T €A & b aut o
T fe @1 € 2

(A) 25 ufaerd (B) 33 ufderd
(C) 45 ufcera (D) 56 HfdwTT

?ﬁﬁﬁf@ﬁmﬁﬁwwaﬁr

I Fod, FOT X S gew fod &
T E |

Il.  9RT H, g & |, STed. § $y
?%wnmﬁ@amﬁw

|

I, xﬁwaﬁ .9[ egﬂoml I
gahh U IER
2011 = 100 9X Geiifue fepam & |

IV. YRd H TR« & i
TATHUE. 3, 3he & MR W
R ST & |

| 11
a1l

A) 13RIV (B)
(C) I3l (D)
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